Z+:(3000) Z MoK ] 21 (3200) X1 &2 MoK £ bl & (3210)tH e FHOIBH e Mg (3211) THeH Al & 2Ol [FHEY] (2
ni; =
of & o & = | =
a2 8 NE MAE =
3000 - _ - -
2 Honey)| 29,113,349 [= 8,105,628 & 8,914,721 J| 0 =& 12,080,000 & 13,000]
iz,‘;?gmgm 09 113,349 [= 8.105.628 & 8,914,721 D 0 = 12,080,000 & 13,000]
3210
oFXE AT I|L = 17.026.029 [= 0 & 4,946,029 Dl 0 2 12,080,000 & 0]
3211
100
Z a0l &t 648,254
110
SlRals] 37,600
101
eIl 37,600
37,600 |08 JIEtA 2=
AHINESHI2ALSRA(CHS)
== 30,470,000&X18 = 30,470

30,000&X1&8X12&
20,000 X2 X128

130,000&X1&X12&

30,470,000&X1/12X70/100X1/30X10

140,000& X1&X122

50,0003 X1&E X122
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480
1,560
593
1,680
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Z:(3000) Z HIJHEH 2h:(3200) K| = & HMIOH 2 dl (3210)tH & ZHID|et Mg (3211) e Al Z 2HZIHe NS
i = _
o . ool oA £ | =
&, 2, 8 e MAE =
NSEH & = 20,000
A A2 2} = 3,000
16,200 |04 RA2E S
1521 015 250,000& X400 kX128 = 12,000
30¢! Ols 350,000& X1 kX128 = 4,200
204
eI 275,280
32,400 |01 MM SHEFA
=& 600,000&X18X12&8 = 7,200
o & 350,000 X6EHX128 = 25,200
196,080 |02 X5
4= 400,000&X8Ex12&8 = 38,400
5= 250,000 X21&8X128 = 63,000
6= 155,000 X22EX128 = 40,920
= 140,000& X23E X128 = 38,640
8~ 105,000& X128 X128 = 15,120
46,800 |03 S
50,000&X78&Xx12&8 = 46,800
301
aptE Lz 51,000




&:(3000) & HMIoH 4l 2:(3200) X1 =& M4 8 (3210) ™ & FHEIDIEE & MIgt: (3211) THeH Al & BH>AINA O] (SR JSA)
o =
& o & | =
BB N M =
51,000 |10 SAMAIHI 2 AL S
THEHAIZ AL Ol Of 23] 10,000
AR Al Gho & 28,000
WeHAIR Eec 2o 13,000
307
DI2HO| A 40,000
40,000 |04 QIZHBANE
ERIZY MaEAlAH 40,000
200
AR O] &t 14,444,000 [= 0 11,180,000 0]
210 = =
403
XIS K= 01 & 13,974,000
13,974,000 |01 RIXISHHR = =
THEHAIZALA 3 OH3AFYS 13,974,000
E 0 = 0 11,180,000 = 0]
220
TR A 470,000
308
REI SRS 0| & 270,000
270,000 |01 KX SR ZANE X2
HEHAIR OHMQE HHA 245,000
WeHAIR SISt - 25,000
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Z:(3000) Z HIJHEH

21 (3200) X1 & Z WL 5t (3210)0HEE 2K I B NI (321 1) THHAI R 224 ] (e Ee
i =
Ol A o4 &t | =
X B a M HAE =
403
XX CHU K= 0] & 200,000
200,000 |01 XX SHHI K2 E X
HE TAMAIR JBAIE XA 200,000
3212
S22/ AHIKES 1,933,775 [= 0 = 1.0.775 Ji 0]
100
24 A0 A 141,600
120
2 AR Y| 141,600
201
QB2 oy 15.000
15,000 |01 LB % |
SHHEY SN EL 15.000
301
QB AT 60,600
60.600 | 10 BALAIH| EAID
SIHOUHRY ofH 2 A 47,000
AHIKICHH QRIQ o1 5.000
SIDUE QY oi43] 8.600
303
mAD 12.000
12.000 00 ZAI2
S B2 LAAR ZA 12.000




&:(3000) & HMIoH 4l 2:(3200) X1 =& M4 &:(3210) ™S ARMDIet & Mg (3212)2 122l et AHIXNES [ZHEHY] (SR
ot =
of & o &t £ | =
&,z 8 NE, MAE =
307
aI2tol A 54,000
54,000 |02 QI2tFAME X
A HIAFERRN KI& = 34,000
A0 JISEAMN=E = 20,000
200
= C £
AFS! Ofl AF 1.792.175 [= 0 & 892,175 | 0o = 900,000 <& 0]
210 =
EEI\ 1,500,000 (= 0 & 600,000 DI 0o = 900,000 & 0]
403
AXISH 201 H 1,500,000
1,500,000 |01 REXIHMA=2E =
AF SARES SstH=EFANAHH = 1,500,000
[= 0 = 600,000 2| 0 900,000 & 0]
220
AR A 292,175
207
o 2K EHH| 5,000
5,000 |02 & AR EHH|
AU MEME SHOIX 25 = 5,000
307
I2Hol A 17,175
17,175/08 OIXIEXN 2
UAAME MoHAAMBO EEEZAS 0IXIEN = 10,800




Z:(3000) Z HIJHEH 2h:(3200) Xl = 2 HIJH 2 Hi & (3210) ¢S FHMOIE =g Mg (3212)2ot2el 2 AHIES [ZHZEHD] (et &)

ni; =
Of &b o &t = | =
a2 8 NE MAE =
=oflIlofl A&Z0l THoHSEESX= OIXNEH = 6,375
308
KX EHHI S 01 & 270,000
270,000 |01 X SHMBAEELZ
AaZ0EA & FHUHEHELNS OINEN = 250,000
M= ZiXtolRer g sl &t = 20,000
3220 =
AR D L AI 25 & = 1,923,412 (=2 261,993 & 1,648,419 DI 0 0 = 13,000]
100 _
110 _
ol A H| 248000 = 0 & 235,000 7| 0 = 0 = 13,000]
101
124 H| 248,000
248,000 | 10 LAIAIE QIR
3312 N 29 = 216,000
ZTZ22 IUHY = 32,000
= 0 = 19,000 DI 0 = 0o = 13,000]
120
dat &3] 230,000
201
et A Y| 30,000
30,000 |02 A2 ZHI




Z:(3000) Z HIJHEH 2h:(3200) Xl = 2 HIJH 2 Hi & (3220) A ATHE D A2 SHE = Mg (3221) 3 - CHEHM A AH=H [ZHEMD] ()

ot =
ol &b oH At = | =
R B B MIEE HIMIE =
HEZ qH=er2ts s = 30,000
307
0I2HOI A 200,000
200,000 |02 QI2tA A X
ITolzd ok X = 200,000
200 o
AR Gl AF 1031 412 [=2 261,993 < 769,419 DI 0 & 0 = 0]
Q%MG 591 012 [= 261,993 < 29,019 DI 0 & 0 = 0]
308
X SHHSOIA 291,012
291,012 |01 XXESHBABEZ
XS - sO{QIAAX} Xise
KNAAAT} RNASR = 261,171
[= 232,152 & 29,019 DI 0 = 0 = 0]
SOHOIAL MYEH = 29,841
(= 29,841 & 0 Dl 0o = 0 = 0]
220
KHAI AL 740,400
207
o POl ety 100,000
100,000 | 02 & AHHEH]
AHOIH LXI2IAIE JHE(DEXEE UWEHT *5) = 100,000
308
X SHHSOIA 310,400




Z:(3000) Z HIJHEH 2h:(3200) Xl = 2 HIJH 2 Hi & (3220) A ATHE D A2 SHE = Mg (3221) 3 - CHEHM A AH=H [ZHEMD] (S

r
[0

o =
of Ao Al = p] ES
BB B KIS HNE =
310,400 |01 KIXIGHI AL X 2
SN R DI
nES%E Iz H2XY = 42,000
lE4 D2 HPxY - 150,000
JIE Iz @23 X2 = 28,400
=409 CIEAIRH X = 90,000
402
DIDIX =0 & 330,000
330,000 |02 DI 2¢CH 3 AR H|
JIsAIIE X2 = 330,000
3200
A Al2s BEX @ 414,000
100
2 A0 & 282,000
120
EREET 282,000
307
DI2HO| & 282,000
282,000 |02 QI2HA A S
22T o sAl - 20,000
CEBRCH BAF K = 69,000
REWH K KHE K2 = 15,000




Z:(3000) Z HIJHEH 2h:(3200) Xl = 2 HIJH 2 Hi & (3220) A ATHE D A2 SHE = Mg (3222) 8l A2 S B & X2 [ZHEMD] ()
i =
Of &b o4 &t = p) =
I B8 HIE AN =
CESMEL 29 = 50,000
HE- A2 12l e = 120,000
L ASHOLS THE = 8.000
200
ARSI Ol &t 132,000
220
K& Abed 132,000
308
KX SHHSOIE 132,000
132,000 |01 XIXISHH A S E2
CESMEL 29 = 100,000
L ALEHOLS TH & = 32,000
e [2 7,843,635 = 2,320,273 D 0 2 0 = 0]
CHRIOl LA X JH e 10,163,908 AL S = 2,320, =, =
3231 o
100
B A0l A 26,000
120
BARAY| 26,000
201
STyl 18,500
10,000 |01 LEr2HH|
SRANRYY S=E 32 = 10,000
8,500 |02 & A2 |




Z:(3000) Z HIJHEH 2h:(3200) Xl = 2 HIJH 2 Hi & (3230) CHAMIOI LA KT JH'E Mg (3231) 214 Ol Xl =2 - 22l [ZHEMD] ()

ni; =
Of &b o &t = D =
&, 28 ME, MAlE =
Sz AMUe =H Y OHE = 8,500
301
AotE A3 2,000
2,000 |10 HAtAIHIE&Z
ZEZUXFZNUE &AL 24 = 2,000
303
ZaS 5,500
5,500 100 Z&=
TRAUNoYY Tt = 5,500
200 o
QOEMO* 499 908 = 285,635 & 214,273 DI 0o - 0o = 0]
307
gI2tol & 400,000
400,000 |02 It AE X
S5EE Z2LY = 400,000
[= 200,000 &= 200,000 JI 0 = 0 = 0]
403
KX E A AF=01 S 99,908
99,908 |01 MXIHMAZE L
SHE MIISSAY = 99,908
= 85,635 T 14,273 DI 0 = 0o = 0]
220
KA AL 1,650,500




Z:(3000) Z HIJHEH 2+:(3200) X1 =& HMIOH 2 dl & (3230) CHAMIOI LA KT JH'E Mg (3231) 214 Ol Xl =2 - 22l [ZHEMD] (e H2
i =
Of &b o4 &t = p) =
&, 2, 8 e MAE =
206
N E=3:] 500
500 |00 =4l
SUSSESAAE = 500
207
A 2O Y| 20,000
20,000 |01 <l
CAIASSHIE GHE = 20,000
403
XX EE A A2 01 ™ 130,000
130,000 |01 KEXISHMI =2 £
LPIFAAIEOH & A 60,000
SHN=IH==E HIIAIE JHE =+ 70,000
501
A= 1,500,000
1,500,000 |01 ItEXt=
StHAME X =E Xt 1,500,000

3032 _
Al THASOILIX] A8 AHD|BF XA 7,987,500 [= 7,558,000 = 429,500 I = = 0]
100
2 440 4t 279,500
120
2 A= 2| 279,500
201
o2 o) 170,000




Z:(3000) Z HIJHEH

2h:(3200) Xl = 2 HIJH 2 Hi

& (3230) CHAMIOI LA KT JH'E

NIEE:(3232) &1 - THAOILA XI &4 AbD| Bt

ot = _
e o 5
e =
170,000 |01 LBt
EALH AHUHX 2 85,000
ATHMONHXIFAIZE 2 55,000
DRI UHE HHXEY 2 2AHQ 30,000
303
ZaE 9,500
9,500 |00 L&3
LKA @4AI2 24 9,500
307
0I2t0| & 100,000
100,000 |02 QIZtAAEZ
SN SHUXIII &R HE 22| 30,000
NGAIAE JlsXt AHDS 70,000
200
= [ =
ALo1 o] &t 7,708,000 [2 7,558,000 &= 150,000 O B = 0]
210
=) c =
& X AbOS 7,558,000 [ 7,558,000 & 0 z = 0]
201
Y2yl 16,000
16,000 |01 LEr2 |
NLXIZES B 16,000
[2 16,000 = 0 7 = 0]
202
ol b 32,000




Z:(3000) Z HIJHEH 2h:(3200) Xl = 2 HIJH 2 Hi & (3230) CHAMIOI LA KT JH'E NI (3232) &1 - THAHOIILA X AakD18h =4 [ZHEMD] (e &2

ot = _ _
ol &b o At = | =
R B B MIEE HIMIE =
20,000 |01 2LH04HI
KoL RIALY =2 = 20,000
[= 20,000 & 0 Dl 0 & 0 = 0]
12,000 |03 =22/ 04H|
KNAMUKX S&X A = 12,000
(= 12,000 & 0 Dl 0o = 0 = 0]
307
0I2HOI A 10,000
10,000 |02 QIZtAAE X
HUHXIES NS - E2SAIY = 10,000
[=2 10,000 & 0 7 0 & 0 = 0]
401
AAHI Y20 2,100,000
2,069,130 |01 Al&HI
ZALEZSASN)| A X = 2,069, 130
[2 2,069,130 & 0 Dl 0o = 0 = 0]
23,310 |02 22l
ZAZEYUE)| AX = 23,310
(= 23,310 & 0 7l 0 = 0 = 0]
7,560 |03 Al& £ CHY|
ZAZESA)| A = 7,560
[= 7,560 < 0 7| 0 = 0 = 0]




Z:(3000) 2 MK b 24:(3200) X1 <2 MoK 2] 8t (3230) CHAI Ol LA KT JH MIBH:(3232) A1 - THAHOII LA XI AHARD|BF XA [ZRIF™MD] (S &)
ot =
ol &b oH At = | =
R B B MIEE HIMIE =
402
QIZEXE0| A 12,000
12,000 | 02 ©I2FCHEH AFRIHI
HUHRX S8R A = 12,000
= 12,000 & 0 DI 0o = 0 = 0]
403
XX SH AH=0lH 5,388,000
5,388,000 01 XXISHMAI=2E X
HEUH X RSH(AR) = 17,000
[= 17,000 & 0 7| 0 = 0 = 0]
DEE JIRE E3(&x) = 100,000
[=2 100,000 & 0 7 0 & 0 = 0]
ANEAS2H &AXI(QLA) = 70,000
[= 70,000 & 0 7| 0 = 0 & 0]
o1& 22 EXMOUEX 22 = 27,000
(= 27,000 & 0 Dl 0 & 0 = 0]
NS B B2 (&=) = 50,000
[= 50,000 &= 0 Dl 0 & 0 = 0]
LED DSASE B2 = 890,000
[= 890,000 < 0 Dl 0 & 0 = 0]
22 |ZEA ATHMHHXES(SHA) = 1,023,000
[2 1,023,000 & 0 Dl 0o = 0 = 0]
St=XelZ HIOIQIIA HIEAIY (SX) = 2,275,000
[2 2,275,000 & 0 Dl 0o = 0 = 0]
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Z:(3000) Z HIJHEH 2h:(3200) Xl = 2 HIJH 2 Hi & (3230) CHAMIOI LA KT JH'E M (3232) &1 - THAHOIILI X AaDI8 24 [ZHEMD] (e &)

ot =
ol &b o At = | =
R B B MIEE HIMIE =
B ZEAIAE AX(KF) = 37,000
[= 37,000 & 0 7| 0 = 0 = 0]
OMZ B S A MA|Z K|S HEEAIAEN(OIH]) = 213,000
[=2 213,000 & 0 7 0 & 0 = 0]
Sl4MElE REFXES 0|28 HHYZLMEH ZH(=H) = 686,000
[= 686,000 < 0 Dl 0 & 0 = 0]
220
KHHI AL 150,000
401
Al&HI L2 150,000
150,000 |01 Al&H]
ZALMI| 2 = 150,000
e = .| 29,113,349




